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Learning Outcomes Covered:
7F: | can determine if two triangles are similar.

Definition: When one shape is an enlargement or a reduction of another, the shapes are

. . ~
S m lm’ . We use the following symbol to indicate similarity: ™~

If two triangles are similar then either:

(a) ‘corresponding angles are € ? ua I

. )
(b) ((:orresponding lengths are P rU'p or + | a l

How to name angles and sides: -

1. That angles can be named in two ways: 4— L K M
e Use 3 capital letters. The middle letter is the vertex of the angle.

e Use only the middle letter identifying the vertex. 4 k L M
2. Sides are named with the 2 letters that make up that side. (usually alphabetically).

For the following triangles, identify the 4
corresponding side and angles. Write the ratio
of corresponding sides in their lowest terms.
State whether or not the triangles are similar.

2 \100°)
Solution: L

B 8 cm

10 cm

6 cm)

1. Identify the corresponding sides: 2. Identify the corresponding angles:
AB corresponds to D E Z A corresponds to Z l
BC corresponds to E F Z B corresponds to é E
AC corresponds to 'DF Z C corresponds to Z F

2. Write the ratio of corresponding sides in lowest terms.

When setting up the ratios, start by placing one triangle’s corresponding sides in the numerator
and the other triangle’s corresponding sides in the denominator.

first triangle b Similan”

second friangle

=2 .3 v
Y5 Therefore, AABC _‘~  ADEF

I"i becausx corres lYam Cyaaq |
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Example 1: Determine if AABC is similar to AEFG. B ) ™
LK = LE =90 i Y
4 B=<F=37 , g
LC=£G"S'3. (i ./G
Cotres. L's are equal 0= 330,
Theefor A ABC = LE74 =53
~,\-_',~,_—~/~’/ - -
R AB -(2. AS - %-‘3 j;—'—g&_ 5{: i '“l’"hw,
ee 7 CF Teamepedvs el TORC dere

If you know triangles are similar, you can use the proportion of corresponding sides to help
determine an unknown dimension.

Example 2: In the similar triangles below, solve for the missing sides x and ).

N PN

31 =5(3.2)
3
|

X
\\ 3

| \ X = 2 unh!

Solution: y
Identify the corresponding side ratios:

3y=< Y(32)
3 3

9= 9.6 umb

Assignment: Sec 7.4,p. 348, Yg #1, 5{\3% 4,5,6.
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